
AR09FSFPDGMXET

31

31-1

31-2

28-4

28-5

28-2



 NO Parts.Code  Parts.Description  Spec.  QT'Y  SA/SNA

 1 DB90-07137B  ASSY CABI FRONT  AQ18UUBMID,SSEC  1 SA

 2 DB63-02588B  GUARD FAN  SI-PJT,PP,T2.5,512.2,459.2,SSE  1 SA

 3 DB90-07141A  ASSY BASE OUT  maldives1,SSEC  1 SA

 4 DB90-05738B  ASSY BRACKET-VALVE  AQ18UUAMID,RAC,SSEC  1 SA

 5 DB31-00564B  MOTOR FAN  SIC-67FV-F135-8,SI-PJT,MAX 0.5  1 SA

 6 DB67-01042A  FAN-PROPELLER  NON-INV,PP-GF20-PD20,OD410  1 SA

 7 6009-001001  SCREW-SPECIAL  TH,WT,M4,L10  1 SNA

 8 DB60-30020A  NUT-HEXAGON FLANGE  M6,Zn-Ni,MSWR3,CLOCKW  1 SNA

 9 DB90-06219B  ASSY BRACKET MOTOR  MALDIVES1,SSEC  1 SA

 10 DB90-07138A  ASSY CABINET-UPPER  AQ18UUBMID,RAC,SSEC  1 SA

 11 DB94-02998B  ASSY PARTITION  SI-PJT,SSEC  1 SA

 12 DB27-00041B  COIL CHOKE  Forte,5mH,10%,120mOHM,,10A,94  1 SA

 13 DB96-15014B  ASSY COND  SI,SSEC  1 SA

 14 DB90-07144A  ASSY-SCREEN COND BAR  SI-PJT,SSEC  1 SA

 15 DB90-05856A  ASSY CABI RH  AQ18UUBMID,SSEC  1 SNA

 16 DB90-07140A  ASSY COVER-VALVE  AQ18UUBMID,ASSY  1 SA

 17 DB90-05857A  ASSY CABI LF  AQ18UUBMID,SSEC  1 SA

 18 UG9A090FUBJPSS  COMP  RCP,39,F,R410A  1 SA

 19 6021-001142  NUT-HEXAGON FLANGE  M5,ZPC(WHT),CWRCH18A,P1.25  1 SNA

 20 DB60-30020A  NUT-HEXAGON FLANGE  M6,Zn-Ni,MSWR3,CLOCKW  1 SNA

 21 DB63-00817B  GASKET  A/C model,SIR,T0.8,26.0,L80,A/C m  1 SA

 22 DB63-02310A  COVER TERMINAL  SABIC N1250,2.5,BLACK,no  1 SA

 23 DB63-02426A  GROMMET ISOLATOR  VIVALDI2,NR,37,15,INV  1 SNA

 24 DB63-02863A  FELT-COMP UPPER OUT  SI,FELT+PVC,T5(FELT)  1 SA

 25 DB63-02860A  FELT-COMP SIDE OUT  SI,FELT+PVC,T5(FELT)+  1 SA

 26 DB63-02861A  FELT-COMP SIDE  SI,FELT+PVC,T5(FELT)  1 SA

 27 DB63-02864A  FELT-COMP BASE  SI,FELT,T5,243.3,274.5,GR  1 SA

 28 DB93-13816D  ASSY CONTROL OUT  HP,INV,9/12/18K,50HZ,150  1 SNA

 28-1 DB93-12849A  ASSY CONNECTOR WIRE  AQV09PSBX,AWG#16  1 SA

 28-2 DB93-10952E  ASSY PCB MAIN-OUT  SI,9K/12K/18K,Y,SMPS,5  1 SA

 28-3 DB95-04637D  ASSY THEMISTOR  CAC,SSEC  1 SA

 28-4 DB61-04658A  CASE CONTROL-OUT  WB,PC+ABS,T2,183.5,256.  1 SA

 28-5 DB93-09497C  ASSY CONNECTOR WIRE  MALDIVE,SSEC  1 SA

 29 DB96-18282A  ASSY-TUBE 4WAY  SI,SSEC  1 SA

 30 DB96-18254A  ASSY-TUBE EEV  JUNGFRAU FLG,SSEC  1 SA

 30-1 DB62-11205F  VALVE-COIL EXPAN  .,DC12V,700  1 SNA

 30-2 DB62-04266A  VALVE EXPAN  SUS,500,1.4  1 SA

 31 DB97-02066C  ASSY ACCESSORY  HP,NO,18000,NO,-,N,SH18AW  1 SA

 31-1 DB73-20134A  RUBBER-LEG  NBR,BLACK  4 SA

 31-2 DB67-20011A  DRAIN-PLUG OUT  ASH-1814ER,PP,WHITE  1 SNA




